S18748] ¢

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

== Land SUZUKI
ALTO i-l 1986-2002
DAW-16225 SZ-13306
Suspension Control Arm and Ball Joint Axial Joint
Assembly
Front
FrontLower  M12x1,25-L=235mm
4708233 4883084000
S$Z-12301 DW-2067
Tie Rod End Control Arm Bushing
Front Front Inner
M12x1.25 96380586
4881084000
IV ( FF) 2002-2009
DW-2067 SZ-16347

Control Arm Bushing

Suspension Control Arm and Ball Joint
Assembly

Front Inner
Front
96380586 a4y 11t
45200M79F 11
DAW-16225
Suspension Control Arm and Ball Joint
Assembly
Front Lower
4708233
V(GF) 2009 after
SZ-13333 SZ-12331
Axial Joint Tie Rod End
Front Front
M12x1.25-L=272 M12x1.25
48830M68K00 485204A00B
SZ-16318 SZ-11334
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front
Front Right Lower
4520268L00
545294A00D
SZ-14330 SZ-16319
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front
L=282mm Front Left Lower
42420M68K00  545304A00D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



SUZUKI

BALENO

1995-2002

Ly

1999-2013

L]

SZ-13203 SZ-16208
Axial Joint Suspension Control Arm and Ball Joint
Assembly
_’ Front
M12x1,25-L=306mm Front Right Lower
]
SZ-16209 SZ-14204
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
A Front Left L=30mm
SZ-12201
% Tie Rod End
Front
M12x1,25Rht
4881082000
(FD)
|
SZ-13323 SZ-12321
Axial Joint Tie Rod End
‘_.u_=' Front Front Right
M12x1,25-L=236mm M12x1,25
4883077A00 4881078A00
|
SZ-12322 SZ-16326
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
B M12x1,25 Front nght Lower
4882078A00  4520177A10
|
SZ-16327 SZ-14320
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
_ Front
Front Left Lower L=66mm
4520277A10  4242077A00

1988-1994

1st Gen (FT,GT) JLX

GRAND VITARA
SZ-12221
5 Tie Rod End
Front Outer
M16x1,5Rht
488108000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

SZ-12222
Tie Rod End
Front Inner

4882077

i

parsrot.com

info@parsrot.com



—
sy L and

GRAND VITARA

1st Gen (FT,GT) JLX

SUZUKI

1994-2001

SZ-12231 SZ-12232
Tie Rod End Tie Rod End
Front Inner Front Outer
M16x1,5Lht M16x1,5
4882085C01 4881085C00
SZ-11235 SZ-16238
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly
Front Right Lower

1998-2005

4570085C00
4520185C00
SZ-16239 SZ-16238N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
4520185C00
4520285C00
SZ-16239N  SZ-14237
Suspension Control Arm Stabilizer Link
Front Left Lower Front
4520285c00 ~ -=38.5mm
4242085C00
SZ-20631 SZ-20632
— Control Arm Bushing Control Arm Bushing
Rear Front
4525385C00 4525485C00
GRAND VITARA 2nd Gen
|
SZ-13243 SZ-12241
Axial Joint Tie Rod End
mﬁgo Front Front Right
M14x1.5-L=227mm M14x1.5
4883067D01 4881067D01
|
SZ-12242 SZ-16249
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
H Front Left
M14x1.5 Front Right
Mod:SQ420
4882067D01
4520167D01

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

——

parsrot.com

6

info@parsrot.com



Rot sy

= Land SUZUKI
GRAND VITARA 2nd Gen 1998-2005
|
SZ-16250 SZ-14247
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly Eront
Front Left L=40.5mm —
Mod:SQ420
4242067D01
4520267D01
| |
CH-13923
Axial Joint
Front
\ 91175548
GRAND VITARA 3rd Gen 2005-2015
| |
SZ-13263 SZ-12261
Axial Joint Tie Rod End
( - -y Front Front
M14x1,5-L=343mm M14x1,5
4883065J00 4881065J00
| |
SZ-16268 SZ-16269
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint ———
Assembly Assembly

Front Right Lower

Front Left Lower

4520178K00 4520278K00
SZ-14260
Stabilizer Link
- e Front
L=300,5mm
4242065J00
GRAND VITARA 4th Gen 2015 after
SZ-13513 SZ-11515
Axial Joint Ball Joint
Front Front Lower
4883061M00 4520261M00
SZ-16518 SZ-12261
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front
Front Right Lower M14x1,5
4520161M00 4881065J00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

7

info@parsrot.com



Rot sy

= Land SUZUKI
GRAND VITARA 4th Gen 2015 after
SZ-16519 SZ-12501
P Suspension Control Arm and Ball Joint Tie Rod End
/ Assembly
Front
Front Left Lower M14x1,5
4520261M00 71742770
|
SZ-14506
Stabilizer Link
Front
I=271mm
71742688
IGNIS I(FH) 2000-2003
|
SZ-13213 SZ-12201
~ Axial Joint Tie Rod End
! Front Front
4883078F01  M12x1,25RNt
4881082000
OP-16176 OP-20723
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Lower Inner
Front Lower
Ch->G075421 L=284mm 2210270
96316765
2003-2008
OP-20723 OP-18175K
Control Arm Bushing Suspension Control Arm Kit
Front Lower Inner Front
9210270 Ch.1G075422-> L=294,6mm
4705742
|
OP-12171 OP-16175
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
M12x1.25 Front Lower
Ch.1G075422-> L=294,6mm
4705716
4705742
|
OP-13173
Axial Joint
_.I Front
M12x1,25-L=239.8mm
4883086G00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land SUZUKI
JIMNY (FJ) 1998-2016
I
SZ-12251 SZ-12252
> Tie Rod End Tie Rod End &
Front Right Front Left
m‘@ M16x1,5Rnt M16x1,5Lht &m
4881081A00 4882081A00
— I
SZ-14257
Stabilizer Link
Front
u L=93mm
4242081A10
LIANA ER 2001-2007

SZ-16608 SZ-16609

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Left Lower

CAST  4520254G01
4520154G01

SZ-13203 OP-14949
Axial Joint Stabilizer Link

Front Front Left
M12x1,25-L=306mm L=150mm

4883060G00 5352019

OP-14950
Stabilizer Link

Front Right
L=150mm

5352020

2004-2008

CH-20587 CH-20586

Control Arm Bushing Control Arm Bushing

Center Rear

96436598 96391856

CH-14306 CH-14307

Stabilizer Link Stabilizer Link

Front Right Front Left
L=272mm L=272mm

96403100 96403099

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9 info@parsrot.com



Rot sy

mw Land SUZUKI
RENO 2004-2008
|
CH-16308N CH-16309
— Suspension Control Arm Suspension Control Arm and Ball Joint
Assembly
Front
Front Left Lower
96415064
96415063
|
CH-16308 CH-11305
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front
Front Right Lower D=@18mm
96415064 96490218
|
CH-12302 CH-12301
Tie Rod End Tie Rod End &
Front Left Front Right
M14x15Rht  M14x1,5Rht M
96407485 96407486
SAMURAI (SJ) 1988-2004
| |
SZ-12221
& Tie Rod End
Front Outer
M16x1,5Rht
488108000
S-CROSS 4th Gen 2013 after
| |
SZ-14506 SZ-12501
— Stabilizer Link Tie Rod End
Front Front
=271mm M14x1,5
71742688 71742770
|
SZ-16518 SZ-11515
Suspension Control Arm and Ball Joint Ball Joint ——
Assembly
Front Lower
Front Right Lower
4520261M00
4520161M00
SZ-13513 SZ-12261
Axial Joint Tie Rod End
Front Front
4883061Mo0  M14x1.5
4881065J00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

10

info@parsrot.com



Rot sy

= Land SUZUKI
S-CROSS 2013 after
|
SZ-16519
o Suspension Control Arm and Ball Joint
/ Assembly
Front Left Lower
4520261M00
SIDEKICK (VITARA) 1988-1994
| |
S$Z-12221 SZ-12222
b Tie Rod End Tie Rod End
Front Outer Front Inner é
4 M16x15RN  4eoo0,m - '
488108000
SPLASH 2009-2012
| NS-14587  NS-14586
@ Stabilizer Link Stabilizer Link
6 Front Left Front Right
L=65mm L=65mm
._._, 54668EA010 7L1Z5K483B
SUPER CARRY CARRY 1985-1999
] |
SZ-12101 SZ-12102
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
4881079000 4882085C00
| |
SZ-16115 SZ-16125
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
_ Assembly Assembly _
‘ Front Front Lower ﬂ
Only:08Lt 4520050001
91112481
SWIFT (IV) 2010-2017
| |
SZ-13443 SZ-12441
Axial Joint Tie Rod End
Front Front Right
M12x1,25 M12x1,25
4883068L00 4881068L00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land SUZUKI
SWIFT (IV) 2010-2017
. |

SZ-12442 SZ-16448

o Tie Rod End Suspension Control Arm and Ball Joint P
Assembly
Front Left

M12x1,25 Front Right Lower

4882068L00 4520171L00

SZ-16449 SZ-11334

Suspension Control Arm and Ball Joint Ball Joint

Assembly
Front

4520268L00

Front Left Lower

4520271L00

SZ-14506
Stabilizer Link

Front
1=271mm

71742688

| (AA) 1983-1989

SZ-12201
Tie Rod End

Front
M12x1,25Rht

4881082000

Il (AH,AJ ) (EA,MA) 1989-2004

SZ-12201 SZ-19430
Tie Rod End Lateral Arm

Front Rear
M12x1,25Rht L=421.5mm

4881082000 4630060B10

SZ-13406 SZ-14210
Axial Joint Stabilizer Link

Front Front
M12X1,25Rht-L=291mm L=79,5mm

4883060B00 4663060811

SZ-20315 SZ-20267

Control Arm Bushing Control Arm Bushing
Rear Front Inner

49519 4553050G00

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 12 info@parsrot.com



—
sy L and

SWIFT

Il (AH,AJ ) (EA,MA )

SUZUKI
1989-2004

SZ-20268

= Control Arm Bushing

SZ-20269

Control Arm Bushing

Lower Front Inner
4554060 4620160B00
|
SZ-16428 SZ-16427
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Front Right
4520270C00 4520170C00
|
SZ-11405
Ball Joint
Front Lower
4520270C00
N (SG) 2005-2010
OP-20612 OP-20613
Control Arm Bushing Control Arm Bushing
Center Lower
4708302 4708299
SZ-16439N SZ-16438N

S~ Suspension Control Arm
' Front Left Lower

4708300

Suspension Control Arm
Front Right Lower
4708299

SZ-14437

Stabilizer Link

SZ-16439

Suspension Control Arm and Ball Joint
Assembly

Front
L=300mm Front Left Lower
4709702 4708300
SZ-16438 SZ-11435
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front
Front Right Lower D=316 5mm
4708299 4708299

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land SUZUKI
SWIFT (SG) 2005-2010
|

SZ-13433

Axial Joint

m———f Front

M12x1,25-L=305mm

4883063J00
SX4 (GY) 2006-2013
| .|

SZ-14506 SZ-16508

Stabilizer Link Suspension Control Arm and Ball Joint

Assembly
Front

[=271mm Front Right Lower

71742688 /1768151

S$Z-13504 SZ-12501
Axial Joint Tie Rod End

Left Front
M14x1,5-L=333mm M14x1,5

4883079J10 71742770

SZ-13503 SZ-16509

Axial Joint Suspension Control Arm and Ball Joint
Assembly
Right

M14x1,5-L=333mm Front Left Lower
4883079J00 71768151

2007-2009
CH-13223
Axial Joint
Front
POWER/ELECTRIC
19149839

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14 info@parsrot.com






